





Outdoor Discovery Center 4214 56th Street. Holland, MI 49423



North Holland Campus 64 152nd Avenue, Holland, MI 49424

ODC Preschools: 2022/23 Registration Information

Dear Future Discovery Preschool Families,

Thank you for your interest in our nature-based preschools! We're excited to be expanding to our new campus on Holland's north side, as well as continuing to offer exceptional outdoor preschool education at Little Hawks on Holland's south side and Seedlings in downtown Holland. Registration for classes at all 3 locations will open publicly on our online system on *Thursday, January 6 at 8:00 PM*.

In the past, classes have filled quickly, so we recommend registering promptly.

To register, go to our registration page and click on the link for the session you would like to register for. Please note that the links will not be active until registration opens at 8:00 PM on Thursday, January 6. You may choose to login to our registration system if you already have a username and password set up, or you can continue as a guest on the first screen of the registration process.

Information about sessions offered for the 2022/23 school year at each location is below. Please take time to look this over before the registration period opens. Teaching teams, session names and classroom assignments will be shared in your enrollment packet. Enrollment packets will be emailed to families in the summer.

A \$50 non-refundable registration fee is due online at the time of registration. If you are unable to register for your first choice, you can be placed on a waiting list for that session, and you may register for another session. You will not be charged the fee if you are placed on a waitlist. Please be sure to completely check out of the registration system to secure your spot in the class or your place on the waitlist.

If you are interested in applying for a scholarship or GSRP, fill out the <u>Help Me Grow application</u>. Please note that a scholarship or GSRP application is not a registration for our program and does not guarantee placement.

If you have questions, please contact Jayne Schutter, Chief Administrator, at jayne@outdoordiscovery.org or 616.393.0949.

The Preschool Team, Rachel Hucul VP of Early Childhood Ed.

Laurel Grose Assistant Director Jayne Schutter Chief Administrator

Little Hawks Discovery Preschool Sessions offered in 2022/23:

3 year old	4 year old	3 & 4 year old together
session options:	session options:	session options:
T/TH mornings	M/W/F mornings	M/W/F mornings
8:30-11:30 AM	8:30-11:30 AM	8:30-11:30 AM
\$1,750	\$2,600	\$2,600
	M/T/W afternoons	Friday mornings
	12:30-3:30 PM	9:00-11:00 AM
	\$2,600	\$700
	M/T/W/TH afternoons	
	12:30-3:30 PM	
	\$3,500 or GSRP	
	M/T/W/TH Full Days	
	8:50 AM-3:50 PM	
	\$7,000 or GSRP	
	After School Care Option	
	3:50 - 6:00 PM, \$15/day	

Seedlings Discovery Preschool Session offered in 2022/23:

4 year old session option:
M/T/W/TH Full Days
8:30 AM-3:30 PM
\$7,000 or GSRP

<u>Dragonflies Discovery Preschool Sessions offered in 2022/23:</u>

3 year old session options:	4 year old session options:	3 & 4 year old together session options:
T/TH mornings 8:30-11:30 AM \$1,750	M/W/F mornings 8:30-11:30 AM \$2,600	Friday mornings 9:00-11:00 AM \$700
M/W/F Full Days 8:30 AM-3:30 PM \$5,200 *Wrap Around Care Option* 7:30 – 8:30 AM, \$10/day 3:30 – 6:00 PM, \$15/day	M/T/W afternoons 12:30-3:30 PM \$2,600	
	M/T/W/TH mornings 8:50–11:50 AM \$3,500 or GSRP	
	M/T/W/TH afternoons 12:50-3:50 PM \$3,500 or GSRP	
	M/T/W/TH Full Days 8:30-3:30 PM \$7,000 or GSRP *Wrap Around Care Option* 7:30 – 8:30 AM, \$10/day 3:30 – 6:00 PM, \$15/day	

Session Details

3 yrs old - T/TH, AM

This morning preschool session is for 3-year-olds (children born on or before September 1, 2019). Class meets from 8:30-11:30AM on Tuesdays and Thursdays from mid-September to late May. The maximum class size is 20 children with a teaching team of 3 teachers.

Tuition cost for the 2022/23 year is \$1750. Tuition can be paid by the year (one payment of \$1750 in September), semester (2 payments of \$875 in September and January), or monthly (8 payments of \$218.75 September - April). Tuition assistance is available for qualifying families.

Offered at Little Hawks and Dragonflies.

3 and 4 yrs old - M/W/F, AM

This morning preschool session is for 3 and 4-year-olds together (children born on or before September 1, 2019). Class meets from 8:30-11:30AM on Mondays, Wednesdays and Fridays from mid-September to late May. The maximum class size is 20 children (10 spots for 3 year olds, 10 spots for 4 year olds) with a teaching team of 3 teachers.

Tuition cost for the 2022/23 year is \$2600. Tuition can be paid by the year (one payment of \$2600 in September), semester (2 payments of \$1300 in September and January), or monthly (8 payments of \$325 September - April). Tuition assistance is available for qualifying families.

Offered at Little Hawks.

3 yrs old - M/W/F, Full Day

This full day preschool session is for 3-year-olds (children born on or before September 1, 2019). The class will meet from 8:30AM-3:30PM on Mondays, Wednesdays and Fridays from mid-September to late May. The maximum class size is 20 children with a teaching team of 3 teachers.

Tuition cost for the 2022/23 year is \$5200. Tuition can be paid by the year (one payment of \$5200 in September), semester (2 payments of \$2600 in September and January), or monthly (8 payments of \$650 September - April). Tuition assistance is available for qualifying families.

Offered at Dragonflies.

4 yrs old - M/W/F, AM

This morning preschool session is for 4-year-olds (children born on or before September 1, 2018). Class meets from 8:30-11:30AM on Mondays, Wednesdays and Fridays from mid-September to late May. The maximum class size is 20 children with a teaching team of 3 teachers.

Tuition cost for the 2022/23 year is \$2600. Tuition can be paid by the year (one payment of \$2600 in September), semester (2 payments of \$1300 in September and January), or monthly (8 payments of \$325 September - April). Tuition assistance is available for qualifying families.

Offered at Little Hawks and Dragonflies.

4 yrs old - M/T/W, PM

This afternoon preschool session is for 4-year-olds (children born on or before September 1, 2018). Class meets from 12:30-3:30PM on Mondays, Tuesdays and Wednesdays from mid-September to late May. The maximum class size is 20 children with a teaching team of 3 teachers.

Tuition cost for the 2022/23 year is \$2600. Tuition can be paid by the year (one payment of \$2600 in September), semester (2 payments of \$1300 in September and January), or monthly (8 payments of \$325 September - April). Tuition assistance is available for qualifying families.

Offered at Little Hawks and Dragonflies.

4 yrs old - M/T/W/TH, AM

This morning preschool session is for 4-year-olds (children born on or before September 1, 2018). Class meets from 8:50-11:50AM on Mondays, Tuesdays, Wednesdays and Thursdays from mid-September to late May. The maximum class size is 18 children with a teaching team of 3 teachers.

Tuition cost for the 2022/23 year is \$3500. Tuition can be paid by the year (one payment of \$3500 in September), semester (2 payments of \$1750 in September and January), or monthly (8 payments of \$437.50 September - April). This session participates in Michigan's free preschool option for 4 year olds, the Great Start Readiness Program (GSRP).

Offered at Dragonflies.

4 yrs old - M/T/W/TH, PM

This afternoon preschool session is for 4-year-olds (children born on or before September 1, 2018). Class meets from 12:30/50-3:30/50PM* on Mondays, Tuesdays, Wednesdays and Thursdays from mid-September to late May. The maximum class size is 18 children with a teaching team of 3 teachers.

Tuition cost for the 2022/23 year is \$3500. Tuition can be paid by the year (one payment of \$3500 in September), semester (2 payments of \$1750 in September and January), or monthly (8 payments of \$437.50 September - April). This session participates in Michigan's free preschool option for 4 year olds, the Great Start Readiness Program (GSRP).

Offered at Little Hawks and Dragonflies.

- *Little Hawks M-TH PM Session Time: 12:30 3:30 PM
- *Dragonflies M-TH PM Session Time: 12:50 3:50 PM

4 yrs old - M/T/W/TH, Full Day

This full day preschool session is for 4-year-olds (children born on or before September 1, 2018). Class meets from 8:30/50AM - 3:30/50PM* on Mondays, Tuesdays, Wednesdays and Thursdays from mid-September to late May. The maximum class size is 18 children with a teaching team of 3 teachers.

Tuition cost for the 2022/23 year is \$7000. Tuition can be paid by the year (one payment of \$7000 in September), semester (2 payments of \$3500 in September and January), or monthly

(8 payments of \$875 September - April). This session participates in Michigan's free preschool option for 4 year olds, the Great Start Readiness Program (GSRP).

Offered at Little Hawks, Seedlings and Dragonflies.

- *Little Hawks M-TH Full Day Session Time: 8:50 AM 3:50 PM
- *Seedlings & Dragonflies M-TH Full Day Session Time: 8:30 AM 3:30 PM

3 and 4 yrs old - Friday, AM

This one morning a week session is designed to be an introductory or supplemental preschool experience for 3 and 4-year-olds (children born on or before September 1, 2019). Class meets from 9:00-11:00AM on Friday mornings from mid-September to late May. The maximum class size is 20 students with a teaching team of 3 teachers.

Tuition cost for the 2022/23 year is \$700. Tuition can be paid by the year (one payment of \$700 in September), semester (2 payments of \$350 in September and January), or monthly (8 payments of \$87.50 September - April). Tuition assistance is not available for this session.

Offered at Little Hawks and Dragonflies.

Wrap Around Care

Wrap around care is offered for full day sessions only at Little Hawks and Dragonflies. Wrap around care is not available at Seedlings. Families will register for wrap around care within the class registration online. Our system is set up to only offer the wrap around option to registrants in the full day classes at Little Hawks and Dragonflies.

At Little Hawks, wrap around care is limited to after school care for children enrolled in the 4 year old M-TH Full Day session, is offered from 3:50 – 6:00 PM and costs \$15/day.

At Dragonflies, wrap around care is offered before and after school for children enrolled in the 3 year old MWF Full Day session and 4 year old M-TH Full Day session. Before school care is offered from 7:30 – 8:30 AM and costs \$10/day. After school care is offered from 3:30 – 6:00 PM and costs \$15/day.